P
GombiSteel &%ine,,

Assembly Instructions
Basket trolley 500x500

Safety Tips

o  Whilst all care has been taken to remove sharp edges, care must be taken
when cleaning or handling to prevent risk of injury from exposed metal edges.

e Do not overload the trolley causing it to bend.

Part List
Part Name Picture gzasr)\t\ty Part Name Picture ?Pl.gnt\ty
Stainless Steel
support stands 1 Sets Allen Key K 1
( Right and Left)
3" Castors 4 5 M8X40 “~ s
Braked N sCrews
3" Castors g 5
=)=

Note: Be sure to check all packaging materials for any small parts that may have come
loose during transportation

Assembly

—_

6.

Remove all protective film, taking care to avoid scratching the surface.

Screw each plastic Bumper onto its relative castors.

Put the Left Support stands flat down on the floor, Connecting 2pcs lower cross bar onto the
stands by using M8x40mm screws, screw the 2x 5’braked castors into the bottom of stand
frame, pay attention to loosely fix them. Fig.1. 2

Connecting 2pcs upper cross bar onto the stands by using screws. Fig.2

Connect the Right support stands to the assembled cross bars by using screws, loosely fix
them, screw the 2x 5”no braked castors into the bottom of stand frame, pay attention to
loosely fix them Fig.3

Up stand the whole assembled, and tighten all screws Fig.4

Before using for the first time we recommend the trolley is cleaned thoroughly with a suitable
cleaning agent. Remove all cleaning residues and dry thoroughly.

Fig.1 Fig.2

Fig.3 Fig.4

Cleaning

Clean the trolley regularly using a cleaning agent suitable for use with stainless steel and
galvanised surfaces.

Always remove cleaning agents residues, this can discolour the surface.

Never leave any surface damp as this may cause discolouration.




P
GombiSteel &%ine,,
\—/

Montage Instructies
Korventransportwagen 500x500

Veiligheidstips

e Hoewel alle aandacht is besteed aan het verwijderen van scherpe randen, moet u
voorzichtig zijn bij het reinigen of hanteren om risico op letsel door blootliggende metalen
randen te voorkomen.

e Overbelast de korven en de wagen niet.

Onderdelenlijst

) Quantity ) Quantity
Part Name Picture (PCS) Part Name Picture PQ)
Stainless Steel
support stands % 1 Sets Allen Key & 1
( Right and Left) v
3" Castors P M8X40 \
Braked @' 2 screws 8
3" Castors »

=3

Opmerking: controleer alle verpakkingsmaterialen op eventuele kleine onderdelen die tijdens
het transport los zijn geraakt

Montage

1. Verwijder alle beschermfolie en zorg ervoor dat er geen krassen op het oppervliak komen.

2. Schroef elke plastic Bumper op zijn wielen.

3. Plaats de linkersteunen plat op de vloer, bevestig de onderste dwarsbalk van 2 stuks op de
standaard met behulp van M8x40mm-schroeven, schroef de 2x 5 "geremde wielen op de
onderkant van het standaardframe, let op losjes vastmaken. Fig.1. 2

4. Verbind de 2 stuks van de bovenste dwarsbalk op de stands met behulp van schroeven.
Fig.2

5. Verbind de rechter steun standaards met de geassembleerde dwarsstangen met behulp van
schroeven, los ze vast, schroef de 2x 5 "geremde wielen niet in de onderkant van het statief,
let op losjes op te lossen. Fig.3

6. Ga rechtop staan en monteer alle schroeven. Fig.4

Alvorens de eerste keer te gebruiken, raden wij aan om de korventransportwagen grondig te
reinigen met een geschikt reinigingsmiddel. Verwijder alle reinigingsresten en droog grondig.

Fig.1 Fig.2

Fig.3 Fig.4

Schoonmaken

¢ Reinig de wagen regelmatig met een reinigingsmiddel dat geschikt is voor gebruik met
roestvrijstalen en gegalvaniseerde opperviakken.

o Verwijder altijd restanten reinigingsmiddel, dit kan het oppervlak verkleuren.

e Laat geen enkel opperviak vochtig achter, dit kan verkleuring veroorzaken.




P
GombiSteel &%ine,,

Montageanleitung
Korbwagen 500x500

Sicherheitshinweise

e  Wahrend mit aller Sorgfalt darauf geachtet wurde, scharfe Kanten zu entfernen, muss bei
der Reinigung oder Handhabung darauf geachtet werden, dass keine Verletzungsgefahr
durch freiliegende Metallkanten besteht.

e Uberlasten Sie die Wagen nicht, damit es sich nicht verbiegt.

Bauteile-Liste

) Quantity ) Quantity

Part Name Picture (PCS) Part Name Picture (PQ)
Stainless Steel
support stands % 1 Sets Allen Key & 1
( Right and Left) v
3" Castors [ M8X40 \

; 2 8
Braked @ﬂ screws
3" Castors 2 P

=3

Hinweis: Uberpriifen Sie alle Verpackungsmaterialien auf eventuelle Kleinteile, die sich
wahrend des Transports gelost haben kénnten.

Montage

—_

6.

Alle Schutzfiime entfernen und darauf achten, dass die Oberflache nicht zerkratzt wird.
Schrauben Sie jeden KunststoffstolRfanger auf die entsprechenden Laufrollen.

Linke StltzfuRe flach auf den Boden legen, 2 Stiicke der unteren Traverse mit M8x40mm
Schrauben an den FlRen befestigen, die 2 x 5" Rollen mit Bremsen in den Boden des
Standrahmens schrauben, dabei darauf achten sie lose zu befestigen. Abb.1. 2

Verbinden Sie die 2 Stlicke der oberen Traverse mit den Standern mittels Schrauben. Abb.2
Befestigen Sie die rechten StitzflilRe mit Schrauben an den montierten Traversen, befestigen
Sie diese lose, schrauben Sie die 2x 5" ungebremsten Rollen in den Boden des
Standrahmens, achten Sie darauf, sie lose zu fixieren Abb.3

Stellen Sie das Ganze auf und ziehen Sie alle Schrauben an Abb.4

Vor der ersten Inbetriebnahme empfehlen wir, den Korbwagen mit einem geeigneten
Reinigungsmittel griindlich zu reinigen. Alle Reinigungsriickstéande entfernen und griindlich
trocknen.

Fig.1

Fig.2

Fig.3 Fig.4

Reinigung

Die Korbwagen regelmaRig sauber machen mit Reinigungsmittel fur Edelstahl
Immer der Rickstand von dem Reinigungsmittel einschmieren, es kann sich verfarben
Lassen Sie kein Dampf auf dem Tisch, es kann sich verfarben




P
GombiSteel 5.,
\—/

Instructions de montage
Chariot a panier 500x500 -

s

I~ !

[

-

4

Conseils de sécurité

e Bien que toutes les précautions aient été prises pour éliminer les arétes vives, il faut faire
attention lors du nettoyage ou de la manipulation pour éviter tout risque de blessure par
les bords métalliques exposés.

e Ne surchargez pas le chariot en la pliant.

Part List

) Quantity ) Quantity
Part Name Picture (PCS) Part Name Picture (PQ)
Stainless Steel
support stands % 1 Sets Allen Key & 1

( Right and Left)

3" Castors [ M8X40
Braked (g screws

3" Castors

@
4
[\S]

Note: Assurez-vous de vérifier tous les matériaux d'emballage pour toute petite piece
susceptible de se détacher pendant le transport.

Montage

1.
2.
3.

6.

Retirez tout film protecteur en prenant soin de ne pas rayer la surface.

Vissez chaque butoir en plastique sur ses roulettes relatives.

Placez le support gauche a plat sur le sol. Reliez la traverse inférieure 2pcs aux supports a
I'aide de vis M8x40mm, vissez les 2 roulettes freinées 5 pouces dans le bas du support,
faites attention a les fixer sans serrer. Fig. 1. 2

Connecter 2 barres transversales supérieures sur les supports en utilisant des vis. Fig.2
Connectez les supports de support droit aux barres transversales assemblées en utilisant
des vis, fixez-les sans serrer, vissez les 2 x 5 "sans roulettes freinées dans le bas du cadre
du support, faites attention a les fixer sans serrer Fig.3

Montez le tout assemblé et serrez toutes les vis Fig.4

Avant la premiére utilisation, nous vous recommandons de nettoyer soigneusement le chariot
avec un produit de nettoyage approprié. Retirez tous les résidus de nettoyage et séchez
soigneusement.

Fig.1

Fig.2

Fig.3 Fig.4

Nettoyage

Nettoyez régulierement le chariot a I'aide d’un agent nettoyant approprié pour les surfaces en
acier inoxydable et galvanisées.

Enlevez toujours les résidus de produits de nettoyage, cela peut décolorer la surface.

Ne laissez jamais une surface humide car cela pourrait provoquer une décoloration.




